OBE®REEM/FHN mENRR

BRERFN-MEFRA HE—RBFIEREERE (FHM7£

1081 HEFR)

(72]

FEEHMMEGET .

FEEHMEGET .

EBBMEER. BFREERX IV EERONFGEZERLTHIERFEES —ELRLUEOEREERFICETIEEMBLZERLTHRE
NEXEEMA 254 56 2 200 AR TEE 6 0 0 6
REBEHEFE—ERT 205 37 0 168 &R AL IR H 7 & S BR 2 0 3 5
RETATHE 131 21 0 110 OracleZRE & 1& 1 0 1 2
PR EHEEE —ERET 110 13 0 97 AWSER E R BR 1 0 0 1
TEREVEEVHE 78 4 7 81 Project Management Professional (PMP) (IB&#448) 0 0 0 0
HERR AP EE—ERT 61 5 0 56 HTMLS T AT zyia+ LR E R ER 0 0 2 2
REBEEE _FERET 59 10 0 49 FHOBERMERER (Z0fth) [FE—#] 0 0 0 0
EREEBEE _ERH 39 4 0 35 N H 10 0 6 16
REWSHKREBE RN 35 7 0 28
;AR IR L 28 13 0 15 EREOBEEBRNIBERIOTSLRVXY)7HRRERETOT S A
EREANEHRE 26 12 0 14 BEERBEABTRTOT 5L G ORE) (Z0H) (HFE—] 13 2 0 11
ERREIEHEET 24 8 5 21 BEEBEABTRTOTSL G ORE) R E-1R) (e —#] 9 0 2 11
(TABI5EF 19 2 0 17 BERBABRTOTSL G ORE) (TF-T%) [T i) 8 1 0 7
TR T (EBEERTHE) X120 REDFRE 12 0 1 13 BEEBNERTOTSLGERDORE) (FB) FE—#K] 8 2 0 6
BULAREMBRE 7 0 1 8 BEEBRNDERTOT 5L GEFHIOFRE) (RE) (HFE—#] 7 1 2 8
ettt 6 0 0 6 BERBRNERTOISLEHFHOERE) (BB [HE—#) 4 0 0 4
JA—DV ) INEER R REEE 6 1 0 5 BEERNERTOT S LA OFER) (EMH) [HFE—#K] 2 1 0 1
EMEMEG| L EER R 4 0 3 7 BEEBRNEHTOT S L GEFORRE) (AXFEF- A HFE—HK] 1 0 0 1
ERMREEEE 4 0 0 4 Fr)THRBRRETOYS LG OER) CUERERBR) (45T —#&] 1 0 0 1
ol T 3 0 0 3 N &t 53 7 4 50
EXEERMERER 3 0 0 3 &t 1,187 200 29 1,016
HEREFH AR 2 0 0 2
REL 2 0 0 2
ST R BB A AT 2 0 0 2
NEIREK VL —BaeEE 2 0 0 2
ZHRREE 1 0 0 1
Hil RS AEET 1 0 0 1
I\ B 1,124 193 19 950
O#MERFRA IBEWRR
it i B 76 13 3 66 % = =B 6 3 0 3
= 7 = 11 0 0 11 R #h FF 24 2 3 25
= ¥ = 18 1 0 17 X (71 FF 70 15 5 60
= bk =2 49 6 0 43 a=d £ = 32 9 0 23
o H s 12 0 0 12 = R = 4 0 1 5
L iz ) 41 6 0 35 0 = 1 R 11 1 0 10
2 = =B 9 0 0 9 5 )1 =2 7 0 0 7
x Ik = 20 7 0 13 5 Ui = 3 0 0 3
#h 7N s 9 0 0 9 fi] I s 15 1 0 14
it 23 = 15 2 0 13 I 5 = 74 6 0 68
1% E 2 39 4 0 35 if O ] 10 0 0 10
3 = 18 6 0 12 & 5 =2 36 0 0 36
=R #B 135 21 10 124 & ] 2 15 5 0 10
g = N = 32 7 3 28 2 I% Iz 30 4 0 26
# R = 96 21 0 75 = 0 = 11 3 0 8
= Ll 2 2 0 1 3 & [ =2 66 5 2 63
a n R 8 1 1 8 & = R 8 3 0 5
= F* = 8 2 0 6 & 55 3 31 6 0 25
I S =2 5 0 0 5 A& ¥ g 15 0 0 15
P F = 2 1 0 1 PN o i 6 0 0 6
133 B = 10 2 0 8 = U3 = 12 0 0 12
i fi] =B 35 20 0 15 ;-3 Ul 5 L 10 4 0 6
4 p3I| =2 24 4 0 20 o e = 9 7 0 2
= E =B 8 2 0 6 a B 1,187 200 29 1,016




